Algebra o % Name:

5.3 Worksheet #2 Date:

Give the coordinates where the line for each equation crosses
the y-axis.

@) y=3x+4 (O 4) @r-2-3
@y=-2-x y=2—x i _

@Graph the line through (-1, -1) with slope 3.

Hour:

Write an equation in slope-intercept form for the line that contains each pair of points.

(Step 1. Find the slope.)

Step 2. Solve for b. Complete all steps. Show all of your work.
Step 3. Write the slope-intercept equation.™ Box your slope-intercept equations.*

Step 4. Check your work.

6. (4,2), (—6,7) 7. (6, —9), (3, —5)
Gepm= Gep)m-
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Find the equations of the lines containing the given points with the indicated slopes.
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